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1. Which of the following group is donating group?
(a) —OCH; (b)—NO; (c)—Cl (d)—CN

2. The meta directing group is:
(a) CH3CH— (b) —OH (c)—NHx  (d)—S0OsH

3. Which of the following is less reactive toward electrophilic aromatic substitution?

o)
|

NO, o C—H
@ © ) © © @

4. Which of the following reactions represents the alkyl halide reaction?
(a) Electrophilic addition  (b) Electrophilic substitution

(c¢) Nucleophilic addition (d) Nucleophilic substitution
5. Which of the following compound obey Huckel’s rule for aromaticity?

9
(a) A (b) = (C)Q (d) @

6. Which of the following is more stable?

.
(2) R (B R (©) 7N\ (@) R—€=0

7. Write the mechanism for the following reaction:

CH4CH,CI
—_ Y
AICl;

8. Complete the following reactions:

Lindlar's catalyst
0,/Pt

R—=0—R—

CH3CH20H/Na .
dry ether




9. Complete the following reactions.

H,S0,/HgS0,

(2) HOC=C—H 5o

(1) R,BH
(2) H,0,/0H

(b)

2HB
(c) HC—C=C—H ———

10. Which of the following is protic solvent?
(a) CHsCHs  (b) CHsCH—OH  (c) © d) :o:

11. The reaction which distinguishes the aromatic compound is:
(a) nucleophilic addition (b) electrophilic substitution
(c) electrophilic addition (d) nucleophilic substitution

12. Electron withdrawing groups activate the:
(a) nucleophilic substitution (b) electrophilic addition
(c) electrophilic substitution (d) nucleophilic addition

13. The structure of 3-ethyl-4-hydroxy-6-methyl benzaldehyde is:

] 0 0}
Il Il Il
C—H C—H C—H
| (a) /@\/ (b)@\ (c)\©\/ (d) none of them |
O OH OH

14. Designate o-, m-, p-, on the following structure:

15. Which of the following is more reactive towards electrophilic addition?

Cl
(a) @ (b) R—CH=CH—R (©) O/ (d) none of them



16. Complete the following reactions:
Ag(NH3)-,0H

R—C=C—H

Ag(NH5),0H

R—C=C—R

v

17. When reacted with KMnO4/OH the product will be:

. b &
o o O
(@) (b) () @

18. Which of the following is the most reactive toward electrophlhc aromatic
subs‘utu’uon‘7 CHs

(a) (b) © © @\ (d) @ © @

19. Which of the following compound has R configuration?

C|3H3 (IZH3 (%Hg
H'"'"?'—OH CI_C]}“I"H Br_cl}...uH HO—CwH

@ CHe @® B (© C (@

20. How many optical isomers for the following compound?
0]
{
CI——H
H—C—OH
HO—('IJ——H
CH,OH
21. Excess bromine reacts with alkyne in water to give a:

(a) dibromoalkene (b) tetrabromoalkane
(b) monobromoalkene (d) fivebromoalkene



NO,

22. The IUPAC name for is:
OH
CHs
(a) 3-nitro-2-methyl phenol (b) 2- methyl 5-nitro- phenol
(c) 2-hydroxy-4-nitrotolene (d) 1—nitro—3—hydroxy—ll—methylbenzene
CH;
23. The common name for is:
(a) phenol (b) aniline (c) toluene  (d) methylbenzene
Ci
24. The common name for is:
NO,
(a) o-chloronitrobenzene (b) p-chloronitrobenzene
(c) m-chloronitrobenzene  (d) 1-chloro-3-nitrobenzene
25. The unknown compound X is: X (1) NaNH, QCECW
@{ )Br

(@) H—c=c—" V" () QCEC_Er

( o=os noe N
(©) (d) H

26. The reagent X needed for the following transformation is:

ol

(a) HCl (b) NaCl (c) PCls (d) CHClI3



OH

27. Addition of excess Brz to in H,O gives:

OH OH OH OH OH
Br Br. Br Br
@) ' (b) © (@
Br
Br Br Br Br

28. Which of the following reagent can be used for the following transformation:
NO, NO,

1

OO,
=
H

o]
0 o] 0
I I I
(a) HaC—C—Cl (b) H—C—Cl (c) /\/[k OH (d) H—C—OH
1

29. The common name of H3C~CCHs i

(a) Acetone (b) propanone (c) ketone (d) acetylene
30. The main product in the following reaction is:

CHs
NO,
sz
ACl,
CHs,
CH3 CH3 NOZ
culon
(a) Br (b) Br (¢) Br (d) none of them
NO,
1) Fe/HCI :
ai. §2§ NeaNoz/Hc| _ the product will be:
(3) H29_IA

NO, OH Fe
() @ (b) @ © i (d) J\:



32. Which of the following consider to be internal alkyne:
0O
Il i
(a) HsC—C—CHj () HC—C—H () R—C=C—R (4) R—C=C—H

33. The number of optical centers in the following compound are:

gt e
H3C—CII—C‘3—ClJ—-C—H
OHBr CH,
(a) 4 ()5 ©3 (d) 10

34. The number of optical isomers in the above compound are:

@) 5 (b) 8 () 12 @) 3

35. Which of the following compound has linear shape?
(a) C:H2 (b) C2Ha (c) CoHs (d) CeHs

NO,
36. The product of the reaction of with Fe/HCl 1s:

NaX NH, NO, NO,
(a) (®) )\: (©) i Fe  (d) i ~CI

37. Which of the following compounds can undergo electrophilic addition?
(a) Benzene (b) ethene  (c) propane  (d) 1-chlorobutane

38. The reactant X in the following reaction is:

T
C—OH
KMnO,
—_————
OH, H,0,A

NO, NH, Br CH;
(@ i () i © J\: (d i

39. Which of the following is achiral compound?



C|;l Blr Br /Br

/
. C— H—Cw H—C—CH
oG CHCHs ["OH peH,c Ay 7"
@ H ® CHs (o) H @ Chs

40. One of the following is incorrect:
(a) Chlorobenzene (b) Toluene (c) Benzene (d) 3,3-dinitrobenzene

41. The bond angle in ethyne is:
(a) 109.5°  (b) 90° () 180° () 120°

42. When R—C=C—H reacted with CH3MgX the product will be:
O
— _ i
(2) R—C=C—CHa; (b) R—C=CMgX () R—CHy—C—H(q) R—CH,—CHs

OH

43. When reacted with 3Br in CS; solvent the product will be:

OH OH OH
@ @\ ®) @fr B@i@( @
Br
Br
44. Which of the following is not polar solvent?

(a) Ha0 (b) @ ()R—OH (d)ROR

45. Which of the following is not aromatic?

00,0,0.0

(b) (©) O @ S

46. Give example of nitration reaction of benzene:

47. Which of the following represent charges on RMgX?



